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                  –                                                        

ко о ого                ойки поп   о-  з ич ых чи          

R- ко  у   ив о  ко  цо    ди иц й. 

А,В – подг упп   дди ив ой г уппы ко  ц  R. 

                  

                    зыв      з  ык  и      и  ,   и     ,  о       в       

з  к у ой (допу  и ой). 

Пример: 

П с   F —     з      е    е   Λ = F(x).  

О  е е  м   еме      ю се   σ = (   )         n   Λ с е  ющ м  б  з м: 

    = A,     = B        = R       сех  с      х i   j. 

Т       RA ⊆ R, RB⊆ R,    ⊂ R ⊂ A      ⊂ B,    σ —   еме        се  . Д  ее, 1/   ∈ 

ABA, с е     е    , ABA ⊆ A ,       м    еме        се   σ  е     е с  

       ем  . 

Се   σ  е     е с  з м       (    с  м  ). Де с    е    ,     ж м  

b =    (1/x)   (1)   (−1). 

Т            (1/x)b =   (−1/x),      м  1/x ∈       ,    1/x  е с  е ж  с         е B = 

   . 

П    м  σ     ,  . е. се   σ  е     е с  з м      . 


